_ PEWNTMUHT
paAMOHM6MTEHEM PoBeHCKOW obnacTu (HO YKpaMHE) 3a :

2003/2004r . 2004/2005r . 2005/2006r . 2006/2007r .
1.UR4KWR = 86 M. 1.UR4KWR = 69 M. 1.UR4KWB = 67mM. 1.UTIKWA = 57m.
2_UR4KWU = 93 M. 2.UT1KWA =112 M. 2.UR4KWU = 76M. 2_.UR4KWR = 72m.
3.UT1KWA =125 ™. 3.UR4KWR = 89m. 3.UR4KWU = 75mMm.

(n3 140 kon.) (n3 132 kon.) 4 _UT1KWA = 100M. (n3 127 kon.)

(us 107 kon.)
1.USOKW = 27 m. 1.USOKW = 18m. 1.USOKW = 19mM. 1.USOKW = 29m.
2_.UT5KO = 61 m. 2.UT5KO = 44m. 2.UT5KO = 52m. 2_.UT5KO = 38m.
3_.URSKFT =118 m. 3.UXOKR = 88M. 3.US7KA = 115m. 3.UR5KCC = 168m.
4_URS5KCC = 136M. 4.UR5KCC = 132mM. 4_URSKAT = 195m.
4_UXOKN =142 M. 5.UR3KK = 148m. 5.URSKED = 215m. 5.UR3KK = 282mM.
5_UXOKR =143 M. 6.UR5KCU = 149M. 6.UXOKR = 239mM. 6.UXOKR = 292m.
6.URSKAT =207 M. 7.URS5KAT = 165M. 7.UX2KA = 248m. 7.URS5KED = 316Mm.
7_.URSKCC =209 M. 8.UXOKX = 176M. 8.UXOKX = 267mM. 8.UXOKX = 318m.
8_UR3KK =260 M. 9.UXOKN = 191m. 9.URS5KAT = 282mM. 9.UT7KF = 354m.
9_UXOKX =264 M. 10.UT5KTT = 296M. 10.UR3KK = 297mM. 10.USOKX = 494m.
10.UR5KGQ =361 M. 11.UR5KGQ = 352m. 11.UT7KF = 322mM. 11.UX2KA = 518m.
11_UT5KP =457 m. 12_UR5KBP = 382m. 12.USOKX = 378M. 12_UXOKN = 654m.
12_USOKF =583 m. 13_.UT5KT = 388m. 13.USOKS = 392mM. 13.UR5KBW = 716Mm.
13_.UR5KDX =683 M. 14_URS5KEU = 404m. 14.URS5KEW = 403m. 14_UT1KY = 766M.
14 _UT1KY =743 m. 15_.USOKF = 556m. 15.UT5KT = 420M. (n3 810 wHA.)

(n3 760 uHa.) 16.URSKBW = 684m. 16.URS5KHZ = 532Mm.

17_UTS5KP = 706m. 17_.UXOKN = 606M.

18_UT1KY = 748m. 18_UT1KY = 722m.

(M3 770 uHa.) 19.USOKF = 741m.

(n3 812 wuHA.)

CTpaHuua



